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3 | i} B 43 44 87 16.8 70.2| RV IV F T 4 —r30

4 ) s Al 41 39 80 9.6 70.4 PR H

5 |fg # 3 44 48 92 21.6 70.4[KRFEAST 7 BEAISTE Y b

6 |1 B 37 36 73 2.4 70.6|F] =312

7% A - = 43 36 79 8.4 70.6[V77 v¥T—~k

8 |H o #Hm — K 38 40 78 7.2 70.8|FFr AL F Ry RAR S

9 | M - % B 46 41 87 15.6 TLAZANIAL T RR—F

10 |l ] B — 36 38 74 2.4 71.6|Townew = Zr AL sl

11 |[E " O 41 38 79 7.2 18| AT X = X7/ ]r

2 B B & 41 43 84 12 72

13 |k H E 3 49 47 96 24 72

14 |H ] BO% 37 39 76 3.6 72.4

15 |X M 1 39 43 82 9.6 12.4(F oA NAY—

16 |n 7’ 2 39 49 88 15.6 72.4

17 | @ B B 44 44 88 15.6 72.4

8 |N M % A 41 40 81 8.4 72.6

19 | It Nl 42 44 86 13.2 72.8

20 |/ % omo MEH 43 43 86 13.2 72.8|8L 15

21 [ Lt =z 47 45 92 19.2 72.8

22 |&F A wE B 53 51 104 31.2 72.8| AT DYEYh

23 |t ik B # 43 42 85 12 73

24 B R R 47 44 91 18 73

25 [ & B = 44 47 91 18 3| BE RN T —E— L — R —

26 |H H [ER = 46 51 97 24 73

27 |H H % 43 47 90 16.8 73.2

28 [#h H FOEK 49 47 96 22.8 73.2

29 |& m B n 38 45 83 9.6 73.4

30 | il i 41 42 83 9.6 T3A|/FBT &EE 2 1ke

31 |7 HE fe 44 45 89 15.6 73.4

32 |% it 5 47 48 95 21.6 73.4

33 @t W X R F 40 42 82 8.4 73.6|°> 7 LAREE rr—

4 |k H R 39 43 82 8.4 73.6

3B |2 A Eo 43 45 88 14.4 73.6| 7 V—Y Y a—AHE vk

36 |k ¥ — 43 45 88 14.4 73.6

37 B Kk # Ok 42 45 87 13.2 73.8

38 |F H & I 46 47 93 19.2 73.8

39 |& i 3 48 45 93 19.2 73.8

40 % B B A F 51 53 104 30 T4 Lo (KJE IR

41 [ W E oz 36 37 73 -1.2 74.2

42 |F & 5 41 38 79 4.8 74.2

43 ) B oW FE R 43 42 85 10.8 74.2

44 [@7 M ST M 44 47 91 16.8 74.2|¥ ¥Ry A FyvS

45 |& = Vi 44 47 91 16.8 142\ HEFEET MYk

46 [ M - 54 49 103 28.8 74.2

47 1B B B’ = 47 43 90 15.6 74.4

48 = R B = 44 52 96 21.6 74.4

49 & K n B 53 43 96 21.6 74.4

50 | VN = 42 41 83 8.4 74.6 (5 A FR bRk
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51 |& 1N e 41 42 83 8.4 74.6

52 |IBs = in 41 42 83 8.4 74.6

53 |tk g 4 39 49 88 13.2 74.8

5 B X A £ F 45 55 100 25.2 74.8

55 | IF L A 45 42 87 12 753X S H—

56 | Lk B — 46 47 93 18 75

57 | I (7S 44 42 86 10.8 75.2

58 |JR 173 3 43 49 92 16.8 75.2

59 |5F (i B 3 46 46 92 16.8 75.2

60 |[fE H G 40 39 79 3.6 75.4| B L EBEA 300g
61 (B M W — 5 43 36 79 3.6 75.4

62 |/h  H (AN 41 44 85 9.6 75.4

63 [# i 3 49 48 97 21.6 75.4

64 (& & E= ] 54 42 96 20.4 75.6

65 [ R 7 M 44 39 83 7.2 75.8|8% SEIAH bk
66 (B & ® R 46 43 89 13.2 75.8 | FE R

67 | r A 42 47 89 13.2 75.8

68 |& ik N - 50 51 101 25.2 75.8

69 [ (i meAT 53 54 107 31.2 75.8

0 |FHF O " - 42 40 82 6 76[Tescom RZ7A¥—
1 1 ’oOH 49 39 88 12 76

72| W B E 45 49 94 18 76

3|0t CIN 50 44 94 18 76

74 PR H = 41 40 81 4.8 76.2

75 |#E & 5F 44 43 87 10.8 76. 2| AMEREE FT MY
76 |F H i 47 46 93 16.8 76.2

(= Iz i 50 49 99 22.8 76.2| Rt RN N

T N U R/ G- 51 48 99 22.8 76.2

9 | A (R 46 59 105 28.8 76.2

80 (B = E & 42 44 86 9.6 76.4[BS FW (5W)

81 |& M B 4 44 42 86 9.6 76.4

82 |R = i 47 45 92 15.6 76.4

83 = 1k ® A 49 49 98 21.6 76.4

84 |1l H R 50 48 98 21.6 76.4

85 |® i . — 44 54 98 21.6 16.4| 7Ty rm—nR— Fyo7
86 |&H H wm % 45 53 98 21.6 76.4

87 | M SR 44 41 85 8.4 76.6

88 |m  # = 47 44 91 14.4 76.6|RF1 AT Y —

89 |E W A £ T 48 49 97 20.4 76.6

9 |# (i T 49 54 103 26.4 76.6|ERFIA VI F IR =7
91 W x K E W 51 52 103 26.4 76.6

92 [E K 3 — 50 53 103 26.4 76.6

93 |#h VN # 54 55 109 32.4 76.6

94 | M EH T 48 42 90 13.2 76.8

9% (& ® o R F 44 46 90 13.2 76.8|K V7407

9% [/ W O 67 44 52 96 19.2 76.8

97 i JIl M = 47 49 96 19.2 76.8

98 | & B K 46 50 96 19.2 76.8

99 [ K & 47 49 96 19.2 76.8[fLf T2 500g

100 [#E & IE A 49 47 96 19.2 76.8|4 T A 34—
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101 [ E S 51 57 108 31.2 76.8

102 [f&  #F o =) 42 47 89 12 77

103 | R i 47 48 95 18 77

104 | R G 48 53 101 24 77

105 [# B b 4 K BB 46 42 88 10.8 172|709  RRHB 7T
106 [F H 52 54 58 112 34.8 77.2

107 |& B =B E T 41 46 87 9.6 77.4

108 |88 K A 47 46 93 15.6 77.4

109 [k B [ 46 47 93 15.6 77.4

110 |z i ) il 45 48 93 15.6 17.4|F—< H—hR o
1r | m B T 48 51 99 21.6 77.4|[BRAUN /=—/ 83—
12 | K 53 52 105 27.6 77.4

13 [/~ B % T 39 47 86 8.4 77.6

4 (M 4 — F M 50 42 92 14.4 77.6

115 |Bg T = 44 48 92 14.4 77.6|fkTead—2 Lk 8Kk
116 [N M 173 46 46 92 14.4 77.6

17 [ R #* - 49 55 104 26.4 77.6

118 ¥ K BO% 43 42 85 7.2 77.8

119 |4 A i 46 45 91 13.2 77.8

120 (& 4y HB 59 50 109 31.2 77.8|%% 5ke

121 i 75 B 39 45 84 6 78

122 (B # T 47 43 90 12 78

123 ¥ 7 B 48 48 96 18 78

124 |% W & £ T 52 50 102 24 78

125 | & v F AR 52 56 108 30 T8(VEHET Wk
126 |B4 u] T 52 43 95 16.8 78.2

127 |3 M & 47 48 95 16.8 78.2

128 |#k J5 E 48 53 101 22.8 78.2

129 B = it 49 58 107 28.8 78.2

130 |H & O A + 47 41 88 9.6 18.4| =7 rT

131 At o x 52 48 100 21.6 78.4

132 [ K’ hm E F 51 55 106 27.6 78.4

133/ B O E F 46 47 93 14.4 78.6

134 I X E A 49 44 93 14.4 78.6

135 (1l K i N =3 47 46 93 14.4 78.6|fHE &k

136 | » & f1 52 47 99 20.4 78.6

137 |# gE [ 46 40 86 7.2 78.8

138 | I B O 48 44 92 13.2 78.8

139 (B k=7 R = 45 47 92 13.2 78.8

140 [E 2 w o F 51 47 98 19.2 78.8| R B AV R

141 |# e 47 44 91 12 79

142 |5 B A 58 45 103 24 79

143 |+ B g — 49 54 103 24 79

144 |% K H Ok 44 46 90 10.8 79.2

145 |H A = 44 46 90 10.8 719.2\Vvayy R/
146 |BR 1] Xt 45 51 96 16.8 79.2

147 (2 & # &K K 56 46 102 22.8 79.2

148 | & s * 53 55 108 28.8 79.2

149 |2 fat 3 51 50 101 21.6 79.4

150 |k 1] xR 45 49 94 14.4 19.6|>%—7 TIR~ITAL—
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151 % R g H 48 46 94 14.4 79.6

152 | K AT 49 51 100 20.4 79.6

153 |+ == g 46 54 100 20.4 79.6

154 |5 fif] T X 56 50 106 26.4 79.6

155 |- JF T 57 54 111 31.2 79.8| KIHATF —~—
156 |& E U 53 45 98 18 80

157 (v & T & F 54 56 110 30 80

158 |#& i Fn e 53 57 110 30 80

159 |l F w 52 45 97 16.8 80.2

160 [H i BT 50 53 103 22.8 80.2|HE BARIE I
161 |t@ H # 2 50 53 103 22.8 80.2

62 |2 A E < 50 53 103 22.8 80.2

163 [fR &F # 0 Bt & 61 58 119 38.4 80.6

164 [k @& = =] 43 50 93 12 81

165 |88 K M B D 46 53 99 18 81|LED #—FFAh
166 | A& - E 52 40 92 10.8 81.2

167 /v Ak Mo T 48 50 98 16.8 81.2

168 | g e 56 54 110 28.8 81.2

169 | A H & F 52 45 97 15.6 81.4

170 & W E — BB 53 44 97 15.6 81.4[BS SW HrRyxoy
171 |l H H if 45 58 103 21.6 81.4

172 |7 2 g 52 49 101 19.2 81.8

173 (A& By o = 52 55 107 25.2 81.8

174 (8 w  E X F 47 47 94 12 82

175 |3 I & 50 50 100 18 82| 7 HbA— X—RF4 FT7hEvh
176 [ A& U 60 52 112 30 82

177 @ B B K M 50 49 99 16.8 82.2

178 (A W € WM F 54 57 111 28.8 82.2

179 [k M F I 60 56 116 33.6 82.4

180 |#£ %N fili 51 63 114 31.2 828k TU A 2
181 | R ook 50 57 107 24 83

182 |E& G % = 50 56 106 22.8 83.2

183 |t % VN 15 50 67 117 33.6 83.4

184 |#E H A 51 41 92 8.4 83.6

185 [# W *x R+ 53 45 98 14.4 83.6|= IR UILEE
186 | i o — 55 55 110 26.4 83.6

187 |1 ooz 55 54 109 25.2 83.8

188 |#  JH W% 60 57 117 32.4 84.6

189 |# T B2 55 58 113 27.6 85.4

190 |A R B #F #h 61 61 122 36 86k >FEH Y
191 /i M 60 67 127 40.8 86.2

192 kT A B OB — 55 58 113 26.4 86.6

193 & #F #OOE 66 53 119 32.4 86.6

194 |®& A FE F K 55 63 118 31.2 86.8

195 |R = v 67 57 124 36 88|VHEFEET b
196 |4 B n 55 74 129 40.8 88.2

197 |&F #E 7O ) 64 63 127 38.4 88.6

198 |# [ o 62 60 122 32.4 89.6

BB [#& & # ! 66 70 136 40.8 95.2(BS FrT 4—/ 7
BM |@# W T 79 75 154 40.8|  113.2|7 Fu—F i
BG | & B 37 36 73 2.4 70.6|BSY 7 —B XSR—/L14 —Z (7RI A—LAD)
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W1 | R oo 47 44 91 20.4 70.6|/Vays H—hRw

w2 %R BO% 43 42 85 12 3| hTo R F R R — A AT =T — A
W3 |fd H SR o 48 42 90 16.8 73.2|NB /A —

w4 | BOE 37 39 76 2.4 73.6|/KAGOME ¥=2—2AF¥ 7k

W5 [F& [EAE< 45 49 94 20.4 73.6| A AL A 2 — R




